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NEG: K 4 oUT IN  GRO HDCP  NET NEG: K 4 oUT 1IN GRO  HDCP  NET MR K 4 oUT 1IN GRO  HDCP  NET
1 BH&E F# 44 42 86 20.2 65.8 51 EE% ZR 44 48 92 15.8 76.2 101 X% =i 52 53 105 17.6 87.4
2 HE 'YE_ 37 43 80 13.9 o66.1 52 BRH EH# 48 54 102 25.7 76.3 102 HEF FE 60 51 111 22.1 88.9
3 SH E=H 41 49 90 23.4 66.6 53 W=R TE% 49 45 94 17.5 76.5 103 K| X 55 o1 116 25.6 90.4
4 EIEE X 35 45 80 13.3 66.7 54 HEH FE 45 44 89 12.4 76.6 104 ZHZE & 59 57 116 22.7 93.3
5 K& —If 39 42 81 13.7 67.3 55 HAH = 54 51 105 28.4 76.6 105 ARHEH AR 57 063 120 26.0 94.0
6 f%* f‘ﬁ\ 44 40 84 16.7 67.3 56 &H &hFE 53 47 100 23.3 76.7 106 L£H Ml 59 59 118 22.0 96.0
7 H?s# B 41 37 78 10.0 68.0 57 ZE# 1EBA 54 53 107 29.7 77.3 107 thHE i 53 58 111 9.6 101.4
8 = ﬁj@ 45 40 85 17.0 68.0 58 SH & 42 47 89 11.6 77.4
9 HE E= 41 46 87 17.3 69.7 50 K& ® 50 51 101 23.5 77.5

10 BEKk HBEKER 42 43 85
11 BEHE Ba 40 39 79
12 HEAXx TE 42 46 88
13 K&K #£= 44 47 91
14 EH BEX 42 41 83
15 BeH FHHl 42 47 89
16 LR ™5 37 46 83
17 &M 1EA 45 42 87
18 T&F RBX 46 44 90
19 HBH Ef 40 42 82
20 HE =& 46 47 93
21 MR BB 49 47 96
22 #H &ia 44 42 86
23 /MBI 45 46 91
24 fiEiE  FRif 42 46 88
25 BA U 43 46 89
26 HFA JEE 51 46 97
27 BYH & 45 49 94
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70.4 60 /A B 44 45 89 11.4 77.6
70.6 61 JkH i 48 44 92 144 T77.6
71.0 62 BE BMX 47 50 97 19.4 T77.6
71.3 63 HF & 50 52 102 24.4 77.6
71.5 64 = FEA 48 44 92 14.3 7177
71.6 65 & BE 53 41 94 16.1 77.9
1.7 66 x=& BAsh 48 53 101 22.9 78.1
71.8 67 BE ER 47 46 93 14.6 78.4
71.8 68 WA &— 49 50 99 20.0 79.0
71.9 69 FHE X{E 50 55 105 25.7 79.3
72.0 70 KNI R 49 49 98 18.4 79.6
72.1 71 RE EA 55 56 111 31.3 79.7
2.2 72 5B B 52 55 107 27.0 80.0
2.8 73 FH H 45 48 93 12.7 80.3
72.9 74 FIl @& 52 47 99 18.7 80.3
73.1 75 #/E ®H— 56 46 102 21.7 80.3
73.3 76 e Hz 50 49 99 18.4 80.6
73.5 77 EH R 52 51 103 80.8
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28 L R 42 39 81 74.0 78 BE E5H 52 55 107 26.2 80.8
29 LHE # 43 43 86 1 74.0 79 % W 48 52 100 19.1 80.9
30 lRX T5 41 47 88 1 74.1 80 iR #th 47 48 95 14.0 81.0
31 F =R 50 45 95 2 4.2 81 HF s 41 44 85 3.8 81.2
32 ¥ B 50 53 103 2 4.4 82 HIE FE 44 A7 91 9.5 8l1.5
33 A & 43 50 93 1 74.5 83 B EHE 47 44 91 9.3 81.7
34 MH Infd 45 49 94 1 74.6 84 XR#E += 47 51 98 16.0 82.0
3B 5H = 49 51 100 2 74.6 85 HKH A 51 51 102 19.8 82.2
36 RE FEB 41 45 86 1 74.8 86 MA HE 46 52 98 15.7 82.3
37 &H B 39 49 88 1 74.8 87 #titk JEH] 44 52 96 13.6 82.4
38 & A 49 43 92 1 74.8 88 #HIL BAA 45 49 94 11.5 82.5
39 —ED 44 41 85 1 74.9 89 EEFM S 48 49 97 14.0 83.0
40 &M H5% 40 41 81 75.0 90 W [ES 53 48 101 17.8 83.2
41 AIE FF0 39 48 87 1 75.0 91 EX =B 46 47 93 9.6 83.4
42 Bl RR 47 46 93 1 75.0 92 FE B# 46 50 96 12.6 83.4
43 xF 1BE 44 44 88 1 75.2 93 EX # 53 53 106 22.4 83.6
44 FE 41 44 85 75.7 94 FR HME 47 51 98 13.4 84.6
45 & 15 46 43 89 75.8 95 EH BX 43 48 91 6.2 84.8
46 FH X 48 45 93 75.8 96 EH HEF| 45 53 98 12.8 85.2
47 HEH =38 41 41 82 76.0 97 XE U 54 56 110 24.8 85.2
48 HFHE_ IR 50 45 95 1 76.0 98 EI§ T 62 57 119 33.1 85.9
49 IR EAM 51 47 98 2 76.0 99 JtAf BB 60 53 113 27.0 86.0
50 5 flE 51 54 105 2 76.0 100 EiI % 54 58 112 25.7 86.3



